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Year 4 - Week 19

Starter/Homework: 12
(Starred questions are optional)
1 Simplify:
6 9 24 G 3
a —3b ——= 75"
9 160

2 Complete the following:
1S

3 92 60 13
8 40 7
|62

3 Convert the following to mixed
numbers and simplify where

&N
)
E o

), O O

*

Q 0 O 0O

a
b

C
d**

f,w*qa ii - o
W LAASS

9-11=-2
S0-12=-14
5-35=-=20
-10-283=-32
-6-6= -2
0-15=-15
2-100 = - 4%
5x-5=25
-250 +--50=5
(—17= 1,

15 B x 10> 45

(don't forget BIDMAS)

possible: e (_6822 i(_f)zi "
d 5P 5T TR (10-5°+16+2% = 21
BIL’LIS sor % 25 -+ L'—
ITEZ

2
4*  Find 7 of 700kg. 2c04y.

3
15"*Ifa = g, b = 10 and

Hint: change to grams to make it easier. c=_—findaxc=<h -
. xR sgtw
5 & Find 40% of £350. >S=« "¢ o
b)  Find 12% of £700. 70 + u=¢216 S)Impllfy.
a

6 Decrease £800 by 5%. 09~ 4o

Hint: change to pence if you need to. ~ 17
7 Write 5 as a decimal. 18
S-Coy

8 Round 5.89 to the nearest

tenth S.Cl 19*
9 Solve 9x - 10 = 53 X= 1
Qo =653 20

1
10*** Solve Z x =20 x= SO

11* | think of a number, multiply by
5, subtract 10 and the answer
is 50. What was the number?

SDL "]O =SSO
S~ = 6O Page 1 of 5
N A

24:16 b) 100:20
C: o4 § %

3: 2
Split £125,in the ratio 1:4.

2S®l=2S

Stz 2.Sx¢ = (00

List the factors of:

a) 30 b) 40
,2,3,5,4,0,15,% 1,2,4,5,%,10,2, 40
é;o
Draw a factor tree for 60. ff@
&®
AT 2o D )
a—+—= —_——_——— =
Su 45 Tu 14 &
3
Pr)
5 2 3,34
6 3 1V 4 45
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21

22**

23"

24*

25

f*
26

Complete the following:

a 0.01kg=[Jgl°©

b 3800 ml=[]litres ¥¥

c 7200m=[Jkm ? Z

d 09cm=[Jmm “

e* 0492m=[]mmuiz
fr 600g=[1kg 0°¢

g* 293 ml=L[]litres 0293

h*  11mm + 0.3cm =1-4 cm
i 6kg200g = L2 kg

Looo
What fraction of 6 litres is
500ml? _Se£ :TJE
30OWA

Decrease 0.3 litres by 100ml.
Give your answer in ml. oo«

300mIx6=_1"% litres
[ §TOwA

Complete the following
sequences:

1,172’315’ 8’&’2_'

3
8,11,14,17, 52 , 2

+3 =+

3, 15_11_3, i, -+

-10, -15, -20, -25, -2, 25
/"N /™

3,4,6,8,9,12,12, 16 , 15

N AT N A~

5,7,10, 14,19, 25 | 32

Find the first four terms of the

sequence with nth term
— FIXI -3 Yy

Tn—3. D=0

Ix3-3-1¢

Ay - 8° 25

Page 2 of 5

27* Find the 10th tern of the

sequence with nth term
On+1. I

28"**Find the 10th term of the
sequences with nth term

2n? (Don’t forget BIDMAS).

2 ><(oZr 2% (0o ~ 2o

29 The product of an odd number
and an odd number number is
odd.__ (odd/even) o S¥S= 25

30 List all three digit numbers you
can make from the digits
9,2,5. 25,4952, 245,259, 892,52

31 Calculate:

b*** 82 _ 32

a 92 'yl
6¢g - q=§3

c \/1_6‘#
g \/ﬁ_\/g

a - 3=6

32 What is the 9th square
number? <€\

33 What is the 4th triangular
number? ,-f:f-

34** Calculate 10% — 23 + 1/ 49
o - § + 9 =99

35 Findxandy:

/3(‘0
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Questions:

1

Convert the following

ﬁw%@i L

4

decimals to percentages:

a 082 ¥Z2 b
c 0.18 I® d
e 0.7 "o f
g 0.99 45 h*
i 04 uwu=s
Kk 0.2 2o |
m 0.01 | n*
o* 0.9316 P
98-16

Convert the following

0.28 2¢
0.87 ¥*
0.3 3z
0.125 12-S
0.345 32«'s
0.1 16

0.001 ¢
0.5 $o

percentages to decimals:

74% 014 b
12% o 12 d
3% oo f
80% ©% h
20% 02 ]
8% o-oF |
* 0.5% 0.cos N*
* 12.5% 0125pF

JX"Q®0 o

@)

Convert the following

28% o- 1%
79% o- %%
29% o0-0%
159% o-1%
5% o-0%
1% oo
4.5% o-0u4%
36.5% o 2%

percentages to fractions
(and simplify where possible):

a
S
8% e I
1% ==
0
17% ‘2,

15% 5. 2

22

OgJxX~"Q®O0 W
A o
S
o\°
0

L 22 . 1%

64% £
0.5%

IDD o Z 2s

)Ooo 20 o

Page 3 of 5

-

xu‘;: y \.\
P <
C.La8s

Convert the following
decimals to fractions (you
can convert to percentages
first if you prefer):

a 025% b 0.18%-%

c 065%:;% d 034%=

e 098%E-%2f 0.99 =

g 032 zagri,ef%h 06 &:-2

i 09 2 02 &=+
k" 0.325 &2 01 &

m 064: % n* 005 &=
ot 0011 p* 0125.2.&

Convert the following
fractions to decimals:

3 7
a — 03 b — 07
10
5 34
C — 0-5 d — 0-3¢
10 100
78
e o3 f — 0-9
1 10
897 375
g 0-&5% — 0333
1000 100
5 35
| S 0%
100 °°° 7 Tooo
1 3
k** - a 2_ I** - a é
5
17 36
m** — 0-%S n** - 0- T2
20 50
O**** _ 0’3'0{ p**** _ O‘\?_S
0°33__
0128
&) (- oo
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Convert the following

fractions to percentages:

7 s b 2

a — — 20
10 10
9 32

¢ — g0 d — 32
10 100

e ﬁ gC f i O
100 10
550 30

g* 5S h —— 2o
1000 100

) 5 . 35

I — —
100 " 71000
1 2

k** _ 20 I** _ 40
5
4 35

m* — 20 n* — 0
20 50
: 3 125

O**** - N *k*k%k - 9\
3 33 P 3

Use the quickest method to

find:

a 20% of £400 %O

1

b 335% of 600kg 2co

c 0.3x800 2¢o

d* 12.5% of 1600g

(use Q2, o for the easiest
method) |eco =¥ = 200
12 A= %

Page 4 of 5

7

**

2
665% of £120 &0

10% of 60ml &

0.125x16 ‘vl 2
(use Q4,p for the

quickest method)

Convert the following to the
equivalent stated in the
brackets:

a 60% = (fraction)

4
b —
5

¢  0.12'Z - £ (fraction)
-

A (percentage)

2S

d 20% o-2. (decimal)
e 0.48 4%

19
20

(percentage)
95" (percentage)

g 85% Z-'L(fraction)

2

h* —-1 s.0Ydecimal
20 © O )

[ 0.08 ¥ (percentage)

j 19% 019 (decimal)

k* 0.2x0.4 (answerasa
.0%- ¢ :
77" edtragtion)
o T As

lxzaz(d imal)
— — O ecima
2 5
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10™* Use your answers to question

8 Complete the table below: 9 to find the following as decimals:
5 : 3
Fraction Decimal % 5 ©-S b g §-3}S
1 . 50%
2 e 2 54 S n
—_ 3.2Y5 d - 9-k&ie
o 0.25 28 12
2
= : 75% 3 5 .
“ 045 ° E f g 0-¢3
— 0 | e 5- 212537
10
= 0-2 | 20%
1 03 | 333
3
= 0.125 | 2-SA

9*** Use bus stop to convert the
following to decimals:

1
a — 0-ll.- b — 0O-125
v O -\ 8

?“,O’OSE’%C — d-lu2eStd —— 9-o%3

T ov 0-lu2gsi 12

005§ — o\¢

14 6
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